

Collect. Math. **48**, 4-6 (1997), 363–373

© 1997 Universitat de Barcelona

On the Bloch space and convolution of functions in the L^p -valued case

JOSÉ LUIS ARREGUI

Departamento de Matemáticas, Universidad de Zaragoza, 50009 Zaragoza, Spain

E-mail address: arregui@posta.unizar.es

OSCAR BLASCO

Departamento de Análisis Matemático, Universidad de Valencia, 46100 Burjassot (Valencia), Spain

E-mail address: Oscar.Blasco@uv.es

ABSTRACT

We introduce the convolution of functions in the vector valued spaces $H^1(L^p)$ and $H^1(L^q)$ by means of Young's Theorem, and we use this to show that Bloch functions taking values in certain space of operators define bilinear bounded maps in the product of those spaces for $1 \leq p, q \leq 2$. As a corollary, we get a Marcinkiewicz-Zygmund type result.

Preliminaries

In all what follows, we shall write L^p ($p \geq 1$) for the space $L^p(\sigma)$, where σ is the normalized Lebesgue measure in the torus $\mathbb{T} = \{w \in \mathbb{C}; |w| = 1\}$. As usual, the norm of a function in L^p (or $L^p(X)$ in the vector valued case) will be expressed $\|f\|_p$ (or $\|f\|_{p,X}$).

Given a Banach complex space X , the Hardy space $H^1(X)$, whose elements are functions on \mathbb{T} with values in X , is the closure of the set of all analytic X -valued polynomials, denoted by $\mathcal{P}(X)$, in the Lebesgue-Bochner space $L^1(X)$, and

The authors have been partially supported by the Spanish DGICYT, Proyecto PB92-0699.

coincides with the set of functions in $L^1(X)$ whose negative Fourier coefficients vanish. Observe that a function f in $H^1(X)$ can be regarded as an analytic function in D if we define $f(z) = \int_{\mathbb{T}} f(e^{it})P(z, e^{-it})d\sigma(e^{it})$, where P is the Poisson kernel $P(z, w) = \frac{1-|z|^2}{|1-wz|^2}$ and its derivative f' is another analytic function on D , but not necessarily defined on \mathbb{T} . For any $0 < r < 1$ we get another function $f_r \in H^1(X)$, given by $f_r(e^{it}) = f(re^{it})$ and following the usual notation we write $M_{1,X}(f, r)$ for $\|f_r\|_{1,X}$. This norm grows with r , and the limit as $r \rightarrow 1$ is precisely $\|f\|_{H^1(X)}$. This is just the same as in the scalar case, but the reader should be aware that there are many “scalar theorems” that depend strongly on the geometry of the Banach space in order to keep or not true in the vector valued case. We refer the reader to [3, 7] for details on vector valued Hardy spaces in this setting.

One of the most important results in the theory of Hardy spaces which is not always true in the vector valued case is that the dual space of H^1 is $BMOA$. For a complex Banach space X , $BMOA(X)$ is the space of all functions $f \in H^1(X)$ such that

$$\|f\|_{*,X} = \sup_I \frac{1}{|I|} \int_I \|f(e^{it}) - f_I\| d\sigma(e^{it}) < \infty,$$

where the supremum is taken over all intervals $I \subset \mathbb{T}$, $|I|$ stands for the normalized Lebesgue measure of I and $f_I = \frac{1}{|I|} \int_I f(e^{it})d\sigma(e^{it})$.

Note that $\|f\|_{*,X}$ is a seminorm, and if we define the norm by

$$\|f\|_{BMOA(X)} = \left\| \int_{\mathbb{T}} f(e^{it})d\sigma(e^{it}) \right\| + \|f\|_{*,X}$$

then $BMOA(X)$ is a Banach space.

For any Banach space X one has that $BMOA(X^*)$ is continuously included in $(H^1(X))^*$, in the following sense: if $f \in BMOA(X^*)$ and $g \in \mathcal{P}(X)$, then

$$\left| \int_{\mathbb{T}} \langle f(e^{it}), g(e^{-it}) \rangle d\sigma(e^{it}) \right| \leq \|f\|_{BMOA(X^*)} \|g\|_{1,X}.$$

In the case that X has the UMD property (which was introduced in terms of vector valued martingales, and is equivalent to the boundedness of the Hilbert transform on $L^p(X)$ for any $1 < p < \infty$), then the pairing given by $\langle f, g \rangle$ as the integral above gives the duality

$$(H^1(X))^* = BMOA(X^*).$$

It is well known that L^p is a UMD space only for $1 < p < \infty$.

(The reader is referred to [3, 6] for information on the duality problem in the vector valued setting).

Next we recall Kahane inequalities, which in their trigonometric version (see [14]) state that, for any $0 < p < \infty$ and any finite family (x_n) in X , we have

$$\int_{\mathbb{T}} \left\| \sum_{k=0}^n x_k e^{i2^k t} \right\| d\sigma(e^{it}) \sim \left(\int_{\mathbb{T}} \left\| \sum_{k=0}^n x_k e^{i2^k t} \right\|^p d\sigma(e^{it}) \right)^{1/p}.$$

Here, and in the sequel, $A \sim B$ stands for $C_1 A \leq B \leq C_2 A$ for absolute constants C_1 and C_2 . In this case the constants only depend on p (and not on X). If we substitute x_k by scalars α_k we get the so called Khintchine inequalities because, by Plancherel, we have that

$$\left(\int_{\mathbb{T}} \left| \sum_{k=0}^n \alpha_k e^{i2^k t} \right|^2 d\sigma(e^{it}) \right)^{1/2} = \left(\sum_{k=0}^n |\alpha_k|^2 \right)^{1/2}.$$

In the same way (though not so classical), it holds that

$$\int_{\mathbb{T}} \left\| \sum_{k=0}^n x_k e^{i2^k t} \right\| d\sigma(e^{it}) \sim \left\| \sum_{k=0}^n x_k z^{2^k} \right\|_{BMOA(X)}.$$

A simple proof of this can be seen in [4].

An analytic function on D with values in X , say $f(z) = \sum_{n=0}^{\infty} x_n z^n$, is called a Bloch function if

$$\sup_{|z| < 1} (1 - |z|) \|f'(z)\| < \infty.$$

The set $\mathcal{B}(X)$ of Bloch functions taking values in X , denoted by \mathcal{B} when $X = \mathbb{C}$, is a Banach space if we endow it with the norm $\max\{\|f(0)\|, \|f\|_{\mathcal{B}(X)}\}$, where $\|\cdot\|_{\mathcal{B}(X)}$ stands for the supremum above (which is a seminorm).

Let us mention that for the Bloch norm we have that

$$\left\| \sum_{n=1}^{\infty} x_n z^{2^n} \right\|_{\mathcal{B}(X)} \sim \sup_{n \in \mathbb{N}} \|x_n\|.$$

This follows from the scalar case (see [1, 2]) using the easy fact that

$$\|f\|_{\mathcal{B}(X)} = \sup_{\|x^*\| \leq 1} \|x^* f\|_{\mathcal{B}}.$$

As usual, the constant C in the proofs may vary from line to line.

The result

Recalling Young’s Theorem, which says that the convolution $f * g$ of two functions $f \in L^p$ and $g \in L^q$, when $\frac{1}{p} + \frac{1}{q} \geq 1$, makes sense and verifies $\|f * g\|_r \leq \|f\|_p \|g\|_q$ if $\frac{1}{r} = \frac{1}{p} + \frac{1}{q} - 1$, we can give the following definition.

DEFINITION 1. Let $1 \leq p, q, r \leq \infty$ such that $\frac{1}{r} = \frac{1}{p} + \frac{1}{q} - 1$. Then, for any $f \in L^1(L^p)$ and any $g \in L^1(L^q)$ we define their convolution $f * g$ as the L^r -valued function given by

$$f * g(e^{i\theta}) = \int_{\mathbb{T}} f(e^{i(\theta-t)}) * g(e^{it}) d\sigma(e^{it}).$$

To justify our definition simply mention that the function $f(e^{i(\theta-t)}) * g(e^{it})$ is easily seen to be measurable in $\mathbb{T} \times \mathbb{T}$, and using Fubini and Young theorems we get that the integral $\int_{\mathbb{T}} \|f(e^{i(\theta-t)}) * g(e^{it})\|_r d\sigma(e^{it})$ is finite for almost every $e^{i\theta} \in \mathbb{T}$. Then $f * g$ is a measurable function.

Remark 1. It is easy to see that if $f(e^{it}) = \sum_{-N}^N \varphi_n e^{int}$ and $g(e^{it}) = \sum_{-N}^N \psi_n e^{int}$ then

$$f * g(e^{i\theta}) = \sum_{-N}^N \varphi_n * \psi_n e^{in\theta}.$$

Now we can state the following result whose elementary proof is left to the reader.

Proposition 1

Given $f \in L^1(L^p)$ and $g \in L^1(L^q)$, the convolution $f * g$ is in $L^1(L^r)$ and verifies $\|f * g\|_{L^1(L^r)} \leq \|f\|_{L^1(L^p)} \|g\|_{L^1(L^q)}$.

Moreover, if $f \in H^1(L^p)$ and $g \in H^1(L^q)$ then $f * g \in H^1(L^r)$.

Our next result is the key point for the main theorem, this is the extension of a classical result of Hardy and Littlewood (see [11, 9]) to the L^p -valued case for certain values of p . We refer the reader to [4, 5] for a proof of a more general statement, and further information about the Banach spaces for which the same result holds. For instance, it is shown there that the result doesn’t extend to the rest of values of p .

Theorem 1 (See [5], Lemma 1.1)

Let $1 \leq p \leq 2$. There is an absolute constant $C > 0$ such that

$$\left(\int_0^1 (1-s) M_{1,L^p}^2(f', s) ds \right)^{1/2} \leq C \|f\|_{1,L^p}$$

for any $f \in H^1(L^p)$.

Proof. By a theorem of Rosenthal ([15]) we know that L^p is isometrically contained in L^1 for $1 < p \leq 2$. Therefore we only have to prove the result for $p = 1$.

Let f be an analytic polynomial with values in L^1 , say $f(z) = \sum_{n=0}^N \varphi_n z^n$. Given $e^{it} \in \mathbb{T}$ we shall write f_t for the scalar polynomial with coefficients $(\varphi_n(e^{it}))$; note that then we have $(f_t)' = (f')_t$, and we shall write simply f'_t . We have

$$\begin{aligned} \int_0^1 (1-s)M_{1,L^1}^2(f',s)ds &= \int_0^1 (1-s) \left(\int_{\mathbb{T}} \|f'(se^{i\theta})\|_1 d\sigma(e^{i\theta}) \right)^2 ds \\ &= \int_0^1 (1-s) \left(\int_{\mathbb{T}} \int_{\mathbb{T}} |f'_t(se^{i\theta})| d\sigma(e^{it}) d\sigma(e^{i\theta}) \right)^2 ds \\ &= \int_0^1 (1-s) \left(\int_{\mathbb{T}} \int_{\mathbb{T}} |f'_t(se^{i\theta})| d\sigma(e^{i\theta}) d\sigma(e^{it}) \right)^2 ds \\ &= \left(\int_0^1 (1-s)g(s) \int_{\mathbb{T}} \int_{\mathbb{T}} |f'_t(se^{i\theta})| d\sigma(e^{i\theta}) d\sigma(e^{it}) ds \right)^2 \end{aligned}$$

(where g is a certain norm one function in $L^2((1-s)ds)$)

$$\begin{aligned} &= \left(\int_{\mathbb{T}} \left(\int_0^1 (1-s)M_1(f'_t,s)g(s)ds \right) d\sigma(e^{it}) \right)^2 \\ &\leq \left(\int_{\mathbb{T}} \left(\int_0^1 (1-s)M_1^2(f'_t,s)ds \right)^{1/2} d\sigma(e^{it}) \right)^2, \end{aligned}$$

and using the scalar inequality (see [11]) for each t we get

$$\begin{aligned} \int_0^1 (1-s)M_{1,L^1}^2(f',s)ds &\leq C \left(\int_{\mathbb{T}} \|f_t\|_1 d\sigma(e^{it}) \right)^2 \\ &= C \left(\int_{\mathbb{T}} \int_{\mathbb{T}} |f_t(e^{i\theta})| d\sigma(e^{i\theta}) d\sigma(e^{it}) \right)^2 \\ &= C \left(\int_{\mathbb{T}} \int_{\mathbb{T}} |f_t(e^{i\theta})| d\sigma(e^{it}) d\sigma(e^{i\theta}) \right)^2 = C \|f\|_{H^1(L^1)}^2. \quad \square \end{aligned}$$

We shall prove now our main result:

Theorem 2

Let X be a complex Banach space, let $1 \leq p, q \leq 2$ and take $1 \leq r \leq \infty$ such that $\frac{1}{r} = \frac{1}{p} + \frac{1}{q} - 1$. Then there exists an absolute constant C such that

$$\left\| \sum_{n \geq 1} T_n(\hat{f}(n) * \hat{g}(n)) \right\|_X \leq C \|f\|_{H^1(L^p)} \|g\|_{H^1(L^q)} \|h\|_{\mathcal{B}},$$

for any $f \in \mathcal{P}(L^p)$, $g \in \mathcal{P}(L^q)$ and $h(z) = \sum_{n \geq 0} T_n z^n \in \mathcal{B}(\mathcal{L}(L^r, X))$, where $\mathcal{L}(L^r, X)$ stands for the space of bounded operators from L^r into X .

Proof. Let $\varphi_n = \hat{f}(n) \in L^p$ and $\psi_n = \hat{g}(n) \in L^q$ for each n . Check that

$$\int_0^1 (1 - s^3)^2 s^{3n-1} ds = \frac{2/3}{n(n+1)(n+2)},$$

so we can write

$$\sum_{n \geq 1} T_n(\varphi_n * \psi_n) = \frac{3}{2} \int_0^1 (1 - s^3)^2 \sum_{n \geq 1} n s^{n-1} T_n((n+1)\varphi_n s^n * (n+2)\psi_n s^n) ds .$$

Let $u(z) = zf(z)$ and $v(z) = zg(z)$. Using that if $S_n \in \mathcal{L}(L^r, X)$ and $\phi_n \in L^r$ then

$$\int_{\mathbb{T}} \left(\sum_{n=0}^{\infty} S_n e^{int} \right) \left(\sum_{n=0}^N \phi_n e^{-int} \right) d\sigma(e^{it}) = \sum_{n=0}^N S_n(\phi_n)$$

and Remark 1 one can obtain that the sum in the above integral is the same as

$$\int_{\mathbb{T}} h'(se^{i\theta}) [(u'_s * (v'_s + g_s))(e^{-i\theta})] e^{i\theta} d\sigma(e^{i\theta}) =: A(s).$$

By Proposition 1 and the definition of $\|\cdot\|_{\mathcal{B}}$ we have

$$\begin{aligned} \|A(s)\|_X &\leq \int_{\mathbb{T}} \|h'(se^{i\theta})\| \| (u'_s * (v'_s + g_s))(e^{-i\theta}) \|_r d\sigma(e^{i\theta}) \\ &\leq \frac{1}{1-s} \|h\|_{\mathcal{B}} \int_{\mathbb{T}} \|u'(se^{i\theta})\|_p d\sigma(e^{i\theta}) \int_{\mathbb{T}} (\|v'(se^{i\theta})\|_q + \|g(se^{i\theta})\|_q) d\sigma(e^{i\theta}) \\ &= \frac{1}{1-s} \|h\|_{\mathcal{B}} M_{1,L^p}(u', s) (M_{1,L^q}(v', s) + M_{1,L^q}(g, s)) \\ &\leq \frac{1}{1-s} \|h\|_{\mathcal{B}} M_{1,L^p}(u', s) (M_{1,L^q}(v', s) + \|g\|_{H^1(L^q)}), \end{aligned}$$

and using now that $1 - s^3 \leq 3(1 - s)$ along with Cauchy-Schwarz inequality and Theorem 1, we get

$$\begin{aligned} \left\| \sum_{n \geq 1} T_n(\varphi_n * \psi_n) \right\|_X &\leq \frac{3}{2} \int_0^1 (1 - s^3)^2 \|A(s)\|_X ds \\ &\leq \frac{27}{2} \|h\|_{\mathcal{B}} \int_0^1 (1 - s) M_{1,L^p}(u', s) (M_{1,L^q}(v', s) + \|g\|_{H^1(L^q)}) ds \\ &\leq \frac{27}{2} \|h\|_{\mathcal{B}} \left(\int_0^1 (1 - s) M_{1,L^p}^2(u', s) ds \right)^{1/2} \\ &\quad \left(\left(\int_0^1 (1 - s) M_{1,L^q}^2(v', s) ds \right)^{1/2} + \|g\|_{H^1(L^q)} \right) \\ &\leq \frac{27}{2} \|h\|_{\mathcal{B}} C \|u\|_{H^1(L^p)} (C \|v\|_{H^1(L^q)} + \|g\|_{H^1(L^q)}) \\ &= \frac{27}{2} C(C + 1) \|h\|_{\mathcal{B}} \|f\|_{H^1(L^p)} \|g\|_{H^1(L^q)}. \quad \square \end{aligned}$$

Remark 2. The theorem shows that any function $h \in \mathcal{B}(\mathcal{L}(L^r, X))$ defines a bilinear map in $\mathcal{P}(L^p) \times \mathcal{P}(L^q)$ which extends by density to a bounded bilinear map

$$U_h: H^1(L^p) \times H^1(L^q) \rightarrow X ,$$

taking the value $\frac{3}{2} \int_0^1 (1 - s^3)^2 A(s) ds$, with $A(s)$ as in the proof for every pair of functions f and g . When f or g is a polynomial, it equals the finite sum $\sum_{n \geq 1} T_n(\hat{f}(n) * \hat{g}(n))$, but the convergence of the series in X is no granted in the general case, due to the fact that $\sum_{n=0}^N \hat{f}(n) e^{int}$ does not need to converge in norm to $f \in H^1$.

Nevertheless, the series above is always summable in the sense of Abel: for every $0 < s < 1$ the series $\sum_{n \geq 1} s^n T_n(\hat{f}(n) * \hat{g}(n))$ is convergent, and its sum $x(s)$ converges in norm to $U_h(f, g)$ as $s \rightarrow 1$.

To see this, note that $x(s) = U_h(f_s, g)$ with $f_s(e^{i\theta}) = f(se^{i\theta})$, because f_s is the limit of the functions $e^{i\theta} \rightarrow \sum_{n=0}^N \hat{f}_s(n) e^{in\theta} = \sum_{n=0}^N s^n \hat{f}(n) e^{in\theta}$, and recall that f_s converges to f in $H^1(L^p)$.

Remark 3. The Theorem 2 for the case $X = \mathbb{C}$ gives that if $f \in H^1(L^p)$ and $g \in H^1(L^q)$ then the convolution $f * g$ belongs to the predual of $\mathcal{B}(L^r)$ whenever $1 \leq p, q \leq 2$ and $\frac{1}{p} + \frac{1}{q} + \frac{1}{r} = 2$.

Let e_n denote the function in \mathbb{T} given by $e_n(w) = \bar{w}^n$. Note then that, for $\varphi \in L^p$, $\psi \in L^q$ and $\frac{1}{r} = \frac{1}{p} + \frac{1}{q} - 1$, we have $\langle e_n, \varphi * \psi \rangle = \hat{\varphi}(n) \hat{\psi}(n)$.

Corollary 1

Let $1 \leq p, q \leq 2$ such that $\frac{1}{p} + \frac{1}{q} \geq \frac{3}{2}$ and let $\frac{1}{r} = \frac{1}{p} + \frac{1}{q} - 1$.

If (α_n) is a sequence of scalars such that $\sum_{n=1}^N n^r |\alpha_n|^r = O(N^r)$, then there exists a constant C that verifies

$$\sum_{n \geq 1} |\alpha_n \hat{\varphi}_n(n) \hat{\psi}_n(n)| \leq C \|f\|_{H^1(L^p)} \|g\|_{H^1(L^q)}$$

for any pair of polynomials $f(z) = \sum \varphi_n z^n \in \mathcal{P}(L^p)$ and $g(z) = \sum \psi_n z^n \in \mathcal{P}(L^q)$.

Proof. The result will follow directly from Theorem 2 as soon as we show that the function $\sum_{n \geq 1} \alpha_n e_n z^n$ is in $\mathcal{B}(L^{r'})$. We have to see that

$$\left\| \sum_n n \alpha_n z^n e_n \right\|_{L^{r'}} \leq C(1 - |z|)^{-1} \quad \text{if } |z| < 1.$$

Note that the assumption gives that $1 \leq r \leq 2$ and then Hausdorff-Young's theorem implies that

$$\left\| \sum_{n \geq 1} n \alpha_n z^n e_n \right\|_{L^{r'}} \leq C \left(\sum_{n \geq 1} n^r |\alpha_n|^r |z|^{rn} \right)^{1/r}.$$

Observe that on one hand

$$\frac{1}{1 - |z|^r} \sum_{n \geq 1} n^r |\alpha_n|^r |z|^{rn} = \sum_{N \geq 1} \left(\sum_{n \geq 1}^N n^r |\alpha_n|^r \right) |z|^{rN} \leq C \sum_{N \geq 1} N^r |z|^{rN}.$$

On the other hand, from Stirling's formula one easily gets the following estimate

$$\sum_{n \geq 1} n^\alpha s^n \leq C \left(\frac{1}{1 - s} \right)^{\alpha+1}$$

for any $0 < s < 1$ and $\alpha > -1$.

Combining both estimates we have then

$$\sum_{n \geq 1} n^r |\alpha_n|^r |z|^{rn} \leq C \left(\frac{1}{1 - |z|} \right)^r,$$

resulting the required inequality. \square

Corollary 2

Let $1 \leq p_1, p_2 \leq 2$ and $1 \leq p_3 \leq \infty$ such that $\frac{1}{p_1} + \frac{1}{p_2} + \frac{1}{p_3} \geq 2$ and let $\frac{1}{r} = \frac{1}{p_1} + \frac{1}{p_2} + \frac{1}{p_3} - 2$. Let $f_k \in L^{p_1}, g_k \in L^{p_2}$ and $h_k \in L^{p_3}$ for $1 \leq k \leq n$. Then there exists a constant C that verifies

$$\left\| \sum_{k=1}^n h_k * f_k * g_k \right\|_r \leq C \|f\|_{H^1(L^{p_1})} \|g\|_{H^1(L^{p_2})} \|h\|_{\mathcal{B}(L^{p_3})}$$

where $f(z) = \sum_{k=1}^n f_k z^k, g(z) = \sum_{k=1}^n g_k z^k$ and $h(z) = \sum_{k=1}^n h_k z^k$.

Proof. Take $1 \leq s \leq \infty$ such that $\frac{1}{s} = \frac{1}{p_1} + \frac{1}{p_2} - 1$ and look at the function $h(z) \in L^{p_3}$ as the operator from L^s into L^r given by the convolution $h(z)(\phi) = h(z) * \phi$ which, from Young's inequality, has norm bounded by $\|h(z)\|_{p_3}$. \square

An application

In the case when $q > 1$ and $X = \mathbb{C}$, the bilinear map considered in Remark 1 can be regarded as a bounded operator $H^1(L^p) \rightarrow BMOA(L^{q'})$, with q' the conjugate exponent of q . By means of the results in the preliminaries, we derive the next application of Theorem 2:

Theorem 3

There exists an absolute constant C such that, for any $1 \leq p \leq 2$ and $\frac{2p}{3p-2} \leq q \leq \frac{p}{p-1}$ we have, if $\frac{1}{r} = \frac{1}{p} + \frac{1}{q} - 1$, that

$$\left\| \left(\sum_{n=1}^{\infty} |g_n * f_n|^2 \right)^{1/2} \right\|_{L^r} \leq C \sup_n \{ \|g_n\|_q \} \left\| \left(\sum_{n=1}^{\infty} |f_n|^2 \right)^{1/2} \right\|_{L^p}$$

for every two sequences $(f_n) \subset L^p$ and $(g_n) \subset L^q$.

Proof. Note that p and q are required so that $2 \leq r \leq \infty$. Assume first that $r < \infty$, which corresponds to $q < p/(p-1)$. By the monotone convergence theorem, we just have to show the result for finite sequences $(f_n)_{1 \leq n \leq N}$, provided that the constant does not depend on N . Given such a sequence, let G and F denote the polynomials which take respectively the values $\sum_{n \leq N} g_n z^{2^n} \in L^q$ and $\sum_{n \leq N} f_n z^{2^n} \in L^p$. Recall then that $\|G\|_{\mathcal{B}(L^q)} \sim \sup_n \{ \|g_n\|_q \}$. On the other hand

$$\begin{aligned} \|F\|_{H^1(L^p)} &\sim \|F\|_{H^p(L^p)} = \left(\int_{\mathbb{T}} \left\| \sum_n f_n e^{i2^n t} \right\|_p^p d\sigma(e^{it}) \right)^{1/p} \\ &= \left(\int_{\mathbb{T}} \int_{\mathbb{T}} \left| \sum_n f_n(e^{i\theta}) e^{i2^n t} \right|^p d\sigma(e^{i\theta}) d\sigma(e^{it}) \right)^{1/p} \\ &= \left(\int_{\mathbb{T}} \int_{\mathbb{T}} \left| \sum_n f_n(e^{i\theta}) e^{i2^n t} \right|^p d\sigma(e^{it}) d\sigma(e^{i\theta}) \right)^{1/p}, \end{aligned}$$

and using the Khintchine inequality we get

$$\|F\|_{H^1(L^p)} \sim \left(\int_{\mathbb{T}} \left(\sum_n |f_n|^2 \right)^{p/2} d\sigma \right)^{1/p}.$$

Now let $K(z) = \sum_{n=1}^N (g_n * f_n) z^{2^n}$, with values in L^r . The same as with F , we see that

$$\|K\|_{BMOA(L^r)} \sim \left(\int_{\mathbb{T}} \left(\sum_n |g_n * f_n|^2 \right)^{r/2} d\sigma \right)^{1/r}.$$

But, since the conjugate exponent of r verifies $1 < r' \leq 2$, we can identify the space $BMOA(L^r)$ with the dual space of $H^1(L^{r'})$ with the pairing indicated in the preliminaries; therefore we have

$$\|K\|_{BMOA(L^r)} = \sup \left\{ |\langle K, \Phi \rangle|; \Phi \in \mathcal{P}(L^{r'}), \|\Phi\|_{H^1(L^{r'})} \leq 1 \right\}.$$

When Φ has coefficients (φ_n) , the integral $\langle K, \Phi \rangle$ takes the value

$$\sum_{n \leq N} \langle g_n * f_n, \varphi_{2^n} \rangle,$$

and this is the same as

$$\sum_{n \leq N} \langle g_n, f_n * \varphi_{2^n} \rangle.$$

Then since $\frac{1}{q'} = \frac{1}{p} + \frac{1}{r'} - 1$ we can apply Theorem 2 for $h = G \in \mathcal{B}(\mathcal{L}(L^{q'}, \mathbb{C}))$, $f = F \in H^1(L^p)$ and $g = \Phi \in H^1(L^{r'})$ and we get

$$\|K\|_{BMOA(L^r)} \leq C \|G\|_{\mathcal{B}(L^q)} \|F\|_{H^1(L^p)},$$

which gives the result in this case.

The remaining case $r = \infty$ is much easier: Now q is the conjugate exponent of p , so $\|g_n * f_n\|_\infty \leq \|g_n\|_q \|f_n\|_p$ for each n . Then we have

$$\begin{aligned} \left\| \left(\sum_{n=1}^\infty |g_n * f_n|^2 \right)^{1/2} \right\|_\infty &\leq \left(\sum_{n=1}^\infty \|g_n\|_q^2 \|f_n\|_p^2 \right)^{1/2} \\ &\leq \sup_n \{ \|g_n\|_q \} \left(\sum_{n=1}^\infty \|f_n\|_p^2 \right)^{1/2} \\ &\leq \sup_n \{ \|g_n\|_q \} \left\| \left(\sum_{n=1}^\infty |f_n|^2 \right)^{1/2} \right\|_{L^p} \end{aligned}$$

where the last inequality indicates the well-known fact that L^p is a 2-concave space (see [12]). \square

Remark 3. If we set $g_n = g \in L^q$ in the statement of Corollary 1, we get—regarding L^q as a subspace of $\mathcal{L}(L^p, L^r)$, by convolution—a special case of a classical theorem of Marcinkiewicz and Zygmund (see [13, 10]), which reads as follows: If $T: L^p \rightarrow L^r$ is a bounded linear operator, where $0 < p, r < \infty$, then T has an ℓ^2 -valued extension, in the sense that

$$\left\| \left(\sum_n |Tf_n|^2 \right)^{1/2} \right\|_r \leq C \|T\| \left\| \left(\sum_n |f_n|^2 \right)^{1/2} \right\|_p$$

for any sequence of functions $f_n \in L^p$, where C depends only on p and r .

However, the standard proof of this statement, via Kahane inequalities, doesn't give a bound for $\|(\sum_n |T_n f_n|^2)^{1/2}\|_r$ when T_n are uniformly bounded.

References

1. J.M. Anderson, J. Clunie and Ch. Pommerenke, On bloch functions and normal functions, *J. Reine Angew. Math.* **270** (1974), 12–37.
2. J.M. Anderson and A.L. Shields, Coefficient multipliers on Bloch functions, *Trans. Amer. Math. Soc.* **224** (1976), 256–265.
3. O. Blasco, Hardy spaces of vector valued functions: Duality, *Trans. Amer. Math. Soc.* **308** (1988), 495–507.
4. O. Blasco, Vector valued analytic functions of bounded mean oscillation and geometry of Banach spaces, preprint.
5. O. Blasco, A characterization of Hilbert spaces in terms of multipliers between spaces of vector valued analytic functions, *Michigan Math. J.* **42** (1995), 537–543.
6. J. Bourgain, *Vector valued singular integrals and the H^1 -BMO duality*, Probability theory and Harmonic Analysis, (1986), Marcel Dekker, New York and Basel, 1–19.
7. A. Bukhvalov and A. Danilevich, Boundary properties of analytic and harmonic functions with values in Banach space, *Proc. Mat. Zametki* **31** (1982), 203–214.
8. N. Dunford and T.J. Schwartz, *Linear Operators, part I*, Interscience, New York, 1958.
9. P. Duren, *Theory of H_p -spaces*, Academic Press, New York, 1970.
10. J. Garcia-Cuerva and J.L. Rubio de Francia, *Weighted norm inequalities and related topics*, North-Holland, Amsterdam, 1985.
11. G.H. Hardy and J.E. Littlewood, Notes on the theory of series (XX) Generalizations of a theorem of Paley, *Quart. J. Math. Oxford Ser. (2)* **8** (1937), 161–171.
12. J. Lindenstrauss and L. Tzafriri, *Classical Banach spaces II*, Springer Verlag, New York, 1979.
13. J. Marcinkiewicz and A. Zygmund, Quelques inégalités pour les opérations linéaires, *Fund. Math.* **32** (1939), 115–121.
14. G. Pisier, *Les inegalités de Kintchine-Kahane d'apres C. Borel*, Séminaire sur le Géometrie d'Espaces de Banach, 1977–1978.
15. H. Rosenthal, On subspaces of L^p , *Ann. of Math.* **97** (1973), 344–373.
16. A. Zygmund, *Trigonometric series*, Cambridge Univ. Press., New York, 1959.